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QUESTION 1

An administrator wants to deploy a complex cluster configuration that will include over six nodes, I/O fencing, and
multiple private cluster interconnections. 

Which method will help the administrator to implement rapid cluster deployment? 

A. prepare a custom main.cf file using the sample template files and copy the file to all cluster nodes 

B. generate a custom installation script using the Veritas Services and Operations Readiness Tools (SORT) website 

C. prepare a custom response file in Veritas InfoScale Operations Manager (VIOM) and push it out to the new cluster 

D. prepare a custom response file to build the new cluster configuration using /opt/VRTS/install/installer 

Correct Answer: D 

 

QUESTION 2

What is the purpose of the AutoClearLimit attribute? 

A. It defines the number of attempts to clear the Faulted state of a resource on all nodes. 

B. It defines the number of attempts to clear the Faulted state of a service group on all nodes. 

C. It defines the number of attempts to clear the AutoDisabled state of a service group on a node. 

D. It defines the number of attempts to clear the Faulted state of a resource on a single node. 

Correct Answer: B 

 

QUESTION 3

An administrator receives the following message: 

Which command should the administrator run to recover from the failure? 

A. hastart 

B. harecover 

C. haagent 
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D. hatype 

Correct Answer: A 

 

QUESTION 4

A cluster configured with disk based I/O fencing has two dedicated high-priority LLT links and one low-priority link over
public network interface. 

What is the state of the cluster if both high-priority links fail simultaneously? 

A. All nodes remain in regular GAB membership, but are also in jeopardy membership. 

B. The cluster is in a split-brain condition until at least one other LLT link is working. 

C. The cluster with active service groups stays running, but the other shuts down. 

D. Service groups are unable to failover when resource faults occur, but can failover if a system fault occurs. 

Correct Answer: B 

 

QUESTION 5

Which command should an administrator use to generate an encrypted password for editing a resource in the main.cf
file? 

A. vcsencrypt -vcs 

B. hares -modify 

C. vcsencrypt -agent 

D. hatype -modify 

Correct Answer: C 
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